€Y)

350 r 350 350 :

300 300 300

250 250 250

200 - 200 | 200

150 150 150

)
€Y)
- 6/( -40) |
t = -900x a

= x ( -70)* t
=ax ( -70)°+ t
2:a>< ( -70)2+t
= C 2-y) x ( 300)
240

= ,+( ,-y) x 240 300



)

®

92,000,000

100,000,000

82,000,000
180 240

92,000,000 + 100,000,000 x 100 92
82,000,000 + 100,000,000 x 100 82
6+ ( -40) -6+ (82-40)  -0.14285...

t = -900 x -900 x  -0.14285... 128.57142...
x (x-70)*+ t
-0.14285... x (92-70)?+ 128.57142... = 59.42857
59.42857 180 239.42857
76,000,000
100,000,000
82,000,000
140 240
76,000,000 = 100,000,000 x 100 76
82,000,000 = 100,000,000 x 100 82
240
= 6+ ( -40) -6+ (82-40)  -0.14285...
t = -900 x -900 x  -0.14285... 128.57142...
.= x ( -70)2 t = -0.14285...x (82-70)>  128.57142...= 108
,= x ( -70)2 t = -0.14285...x (76-70)>  128.57142...
= 123.42857...

= 3+ ( - X + 300
= 108 + (123.42857...-108)x 240 + 300 = 120.34285
120.34285 140 260.34285




